Honors Physics Vector Quiz A                Name _______________________

1.
Add the two vectors using any method you wish. Place your answer in the blank provided. Indicate the method used to solve the problem.  Vector A is 60 m [S 35o W] and Vector B is 45 m [N 80o E].


_________________________

2.
Add the three vectors using any method you wish. Place your answers in the blank provided. Indicate the method used to solve the problem.           67  km
[E  37o  S],     92  km  [W  17o  N]      43  km  [S  27o  E]


_________________________

3.
An airplane flies at a direction of [W 39o S] at 450 km/hr. What are the components of the plane’s velocity:


a.
 towards the West? 
____________________


b. 
towards the South?
____________________


c.
towards the North?
____________________

4.
A boat heads directly across a river 41-m wide at 3.8 m/s. The current is flowing downstream at 2.2 m/s. A neat organized solution is essential. 


a.
What is the resultant velocity of the boat?  


b.
How much time does it take to cross the river?

c. How far downstream is the boat when it reaches the other side?

d. At what angle would you point the boat if you wanted to go directly across the river?

e. What would the crossing speed?

f. How long would it take to go across the river if you wanted to go directly across?

a. _______________

b. _______________

c. _______________

d. _______________

e. _______________

f. _______________
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